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+tEF—TH 164 174 791] 1,565 |E=TH 1,272] 1,586( 1,586] 3,172
LEFZTH 171 876 871| 1,747 [REMTH 766 817 935] 1,752
TTHT—TH 1,761] 1,530{ 1,801] 3,331| [FEARTH 961 1,121{ 1,130] 2, 251
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HhEFATH 979 1,118[ 1,208[ 2,326| (BFERTH 1,019 960] 1,099{ 2,059
TEF—TH 811 985[ 1,023( 2,008| (ALL—TH 1,867] 1,628( 1,792| 3,420
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TE=TH 503 674 680[ 1,354| |#BE—TH 41 33 35 68
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BENAE—TH 444 560 566| 1,126( |#E=TH 1,136 1,133] 1,220] 2,353
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EBAE=TH 222 3401 344 684
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hE=-TH 689 800] 827{ 1,627 HwEEt 34,696(36,011]38, 545]74, 556




